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K 4 o~19 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 |& %
AN F K| 305 3 3 4] 43| 30 75| 74 4 1l 62[ 604
oo K[ 160 9 0 2 12 9] 27| 42 1 4 17| 283

G 465 12 3 6/ 55| 39 102| 116 5 5/ 79| 887

#20—2 FTAMBSEFE (BE) EMi CPK 2 9 4FEREME)

(£ - TH)
No. | #X{E# FRA | ERAEEE | SRR g SEs 2 7 fiii 5
| |[FEEglE o N 2~4 385, 000|#kfi=r o2 U — M 1B (3, 23 7nf)
2 23 N 13 119, 656|827 U —MME& 1 (1, 66 8ni)
3 BINE —/N14~15] 376, 482(8h= 27V — bMg&E3 M/ (5, 59 9ni)
4 B & /N 15~16 486, 051|182 27 U — ME& 7 (5, 36 3m)
5 oA IN16~17 584, 3438k 7 UV — h& 28 (5, 3 3 4m)
6 B 7§ H|16~17 716, 962|8kfr=2 27 U — MEE2M (7, 28 0m)
7 O Fl17~18 597, 536|817 U — M 28 (6, 78 7ni)
8 % WH /N 18~19| 530,360|8kF= s VU — MR&3H (5, 17 8m)
9 JIE Fl18~19 699, 6508k 7 U — MEA& 5 (6, 76 2m)
10 B o R /NN21~22] 280,010[8f=2 Y — M4 (6, 00 9ni)
11 %2 2 Hl21~22 276, 142|827 U— M&E 18 (3, 46 1)
12 H R B /N 24~25] 200,000 7 U — MEE LI (2, 42 6n)
13 EARF YN 24~25[ 200,000\8kf= 27 U — M2 (2, 02 8ni)
14 WP R/ N 25~26| 215,475|8f=2> 27 U — Me&3H (3, 6 3 9m)
15 W IN27~28 611, 059 Ekfili 27 U — Mt 24 (3, 56 7m)
16 |2 FI Hi|Eg A 9~10 363, 448|8kfi= > 2 U — MEE 2B (3, 7 3 2nf)
17 P 9 /M10~11 226, 414|827 U — MM 18 (1, 85 7m)
18 IR N 12~13 255, 078|817 U — M 38 (2, 98 4ni)
19 bR & /N 15~16[ 2885938k U— k&2 (3, 15 7nd)
20 R & /N 19~20( 498, 225|827 U— MME&E 1B (3, 82 2ni)
21 ZaH P 27~29] 572,000| 8= Y — Me&E 2 (2, 425n)
oo | A ik B | 60~ | 498, 000[8ki= 2 U — AR (5, 34 4nd) | [HAOFH]
23 WO | 2~5 337, 041|8f= 27V — MEE&E LB (3, 57 7ni)
24 7w 5 f| 3~5 369, 000|227 U — MM 18 (3, 41 6m)
95 B 16 153, 446[8&fH > 7 ) — MEE 1M (3, 39 1 m)
26 MR/ 1 6~1 7| 240,375|8kf= 27 V— M ME&H 28 (2, 95 0n)
27 KFrpgs~17~18 109, 632|&kfh =7 U — ME&E 3 (4, 93 2m) [[HRIEHT
28 5 A 56 /)N 18 188, 8748k =127 V— MX&E 1M (1, 96 7mi)
og | B hlm W N 8~9 253, 4018k = 2 U — Mg 28 (2, 31 7nd) | [HHERS
30 NI 13 201, 707|827 U — M 48 (4, 17 4nd)
31 H oK /M 14~15] 186,413|8k= 7V — bMEE S (2, 59 2nd) | IHEEENT
39 ORI 15 154, 271|8kfi= o 2 D — "Be& 1B (1, 28 4nd) | IHEART
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33 [BE B T3 w5 N 62~2 226, 000[#kf= > 2 UV — M&& 1M (3, 31 0nf) | IHSEERET
a4 It /M 63~5 465, 000| A& 2 (4, 6 4 2 nf)

35 (i NI N 9 273,269|8kf= > 7 U — P& 28 (1, 88 9ni)

36 b K Fl1o~11 482, 006|&kfi=> 27V — hE& 1 04 (3, 409n)

37 b K fF 28] 10 228, 267 |#i=7 v — s 2bk (87 7nd) | 20 3H (64 3nd)

3g |A S R AN 16~17 354, 266|827 U— MRS 1R (2, 83 2nf) | [HFEFAT
39 [/ W FEPNLEE —/h 13 147, 8408k M2 27 U — P& 24 (2, 11 5nf)

40 |&% W IR K b 13 187,938|#kfi=> 7 V— ME& 28 (2, 26 7ni)

43 MAMRT |z g 2~3 126, 000fsm=> sy —risam (2, ss1a snave-—rawsia | [H AT
45 OB | 5~6 131, 000|827 U — MME&E 1B (1, 64 0ni) |IAFENT
46 [£3] N 25~26 177, 7688k = > 7 U — P& 1M (1, 7 2 2nd)

48 KIFE B /h26~27 314, 445(#FH =2 U — ME&E 1B (5, 05 3nf)

49 e A /N 26~27 94, 520|#kfi 2> 7 U — bR 2 (1, 2 8 3nd)

51 B /N 2e~27 191, 2868 =27 U — MEE&E2H8 (3, 02 7ni)

53 = & /l26~27 106, 470|#fH =27 U — P& 28 (1, 4 8 4 i)

54 [i3) N 26~27 202, 093|827 U — b& 28 (2, 75 1nf)

56 H # H|26~27 309, 212(#kffi= > 27 U — P& 28 (3, 9 9 0nf)

57 & B F|26~27 254, 580|827 U — MEE& 2 (4, 26 8ni)

59 [ < B[R F b 17 136, 5458k =22 U — MMEEas (6, 79 2nf)

61 53] AN 19 75,026(8 =7 ) — MEE T (3, 47 2nf)

go [MAS WA B (1 /N 4a~7 610, 436|8kf=> 27 U — ME& 38 (6, 35 8ni) [[HELAT
64 £t & /N13~14 282, 456|8kf= > 7 U — K& 5H (2, 80 8ni) | (B ILHET
65 oI 14~ 204, 341|#Har 2z ) — MEESHM (4, 19 3nd) | IHERZER
67 o) 26 168, 000|#kffi = > 2 U — pe& 14 (4, 9 3 2nf)

69 oo s 27 160, 902|#fh=> 27 U — MXE&E 1 (3, 6 8 6 i)

7o |F B HlE O E b 18 259, TT0|8kf = > 7 U — hEE& 18 (2, 09 2nf)

79 PSR IV 19 366, 275(#MH =27 U — P& 1 (3, 59 9ni)

73 ao s 21 277, 567|827 ) — Mg&E 1M (3, 06 4nf)

75 E 4y FF /) 21 249, 6308 =27 U — MEE T (2, 27 4nf)

77 E 5y 3 /A 22 76, T55|#FH =7 U — MEE&E LB (1, 03 5nf)

78 3Rl SE N 24 209, 402|827 UV — MEE&E 2 (2, 3 3 1)

80 ao s 2 4 101, 397|822 UV — b 14 (1, 04 7nf)

81 [E] 43 3 B/ 24 189, 119|#kfi= > 2 U — M&E 1M (1, 97 2nd)

83 [E 7y F |l 25~26 187, 856|#kf =7 U — P& 2 (4, 2 3 4nd)

gs |[-E = JNET|IA 48 |l 21~22 144, 2638k 2V — RMEE 1M (1, 52 5nf)

36 K 5 | 23~24 144, 265|822 UV — pe& 24 (3, 4 2 8nf)

88 k=)l H|l23~24 213, 7598 =7 U — ME&E 28 (4, 97 7nf)

89 Wk I 24~25 125, 9068k =7 UV — ME& 148 (2, 18 5mi)

91 B /N24~25 136, 075|8kfli= > 7 U — bE 28 (2, 7 4 3nd)

93 B B Hl24~25 321,067k = 2 ) — PEESHL (3, 728n)

94 =4 N 25~26 128, 718|#kfHr= > 7 U — Mk 24 (1, 56 8ni)

96 |1 K ETE A /b 2 4 90, 334|#kfh=> 7 UV — ME& 1M (2, 32 3ni)

97 |77 E WT|3F o | 62~4 229, 000|8kfF=> 7 U — ME& 48 (5, 018ni)

99 O R/ 10~11 174, 501|822 U — ME 1M (2, 31 8nd)

101 OB fli19~21 244, 937|827 ) — MEE 1M (4, 8 2 4nf)

102|H A W #R B /| 26~27 | 259, 449|8kf5= 2 ) — M&& 1M (3, 80 7nf)

104 K W N 28~29 247,000|8kfM =27 U — M&E 28 (2, 92 6nf)

105 | AR AT | AL AR R 29 265, 0007 U — ME&E 3 (5, 64 2nf)

lo7|BF Zg W H R | 25~26 200, 000|822 U — ME&E 24 (4, 84 2nf)

109 R BIINHTG B /) 10 170, 2118k = > 7 U — MR 28 (2, 31 7nf) | [AESEEAT
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